=
= _
@ ME: AFLR (SUS304, XM7)
% REMAIE - AL
b 1 BME:A2-70
S(&3E)
(=)

% Jx{f Z“\/?’% S B ds K m t S Cfx/f *V;"% S B ds K m ¢
B44-0325 | M3X25 0.5 18 5.5 3 3 2.5 1.3 | B44-0665 | M6X65 1.0 24 10 6 6 5 3
B44-0330 | M3X30 0.5 18 5.5 3 3 2.5 1.3 | B44-0670 | M6XT70 1.0 24 10 6 6 5 3
B44-0430 | M4X30 0.7 20 7 4 4 3 2 B44-0840 | M8X40 | 1.25 28 13 8 8 6 4
B44-0435 | M4X35 0.7 20 7 4 4 3 2 B44-0845 | M8X45 | 1.25 28 13 8 8 6 4
B44-0440 | M4X40 0.7 20 7 4 4 3 2 B44-0850 | M8X50 | 1.25 28 13 8 8 6 4
B44-0445 | M4X45 0.7 20 7 4 4 3 2 B44-0855 | MB8X55 1.25 28 13 8 8 6 4
B44-0450 | M4X50 0.7 20 7 4 4 3 2 B44-0860 | MB8X60 1.25 28 13 8 8 6 4
B44-0530 | M5X30 0.8 22 8.5 5 5 4 2.5 | B44-0865 | MB8X65 1.25 28 13 8 8 6 4
B44-0535 | M5X35 0.8 22 8.5 5 5 4 2.5 | B44-0870 | MB8X70 1.25 28 13 8 8 6 4
B44-0540 | M5X40 0.8 22 8.5 5 5 4 2.5 | B44-0875 | MB8X75 1.25 28 13 8 8 6 4
B44-0545 | M5X45 0.8 22 8.5 5 5 4 2.5 | B44-1045 | M10X45 1.5 32 16 10 10 8 5
B44-0550 | M5X50 0.8 22 8.5 5 5 4 2.5 | BA44-1050 | MI10X50 | 1.5 32 16 10 10 8 5
B44-0635 | M6X35 1.0 24 10 6 6 5 3 B44-1055 | MI10X55 | 1.5 32 16 10 10 8 5
B44-0640 | M6X40 1.0 24 10 6 6 5 3 B44-1060 | MI10X60 | 1.5 32 16 10 10 8 5
B44-0645 | M6X45 1.0 24 10 6 6 5 3 B44-1065 | MI10X65 | 1.5 32 16 10 10 8 5
B44-0650 | M6X50 1.0 24 10 6 6 5 3 B44-1070 | MIOX70 | 1.5 32 16 10 10 8 5
B44-0655 | M6X55 1.0 24 10 6 6 5 3 B44-1075 | MIOX75 | 1.5 32 16 10 10 8 5
B44-0660 | M6X60 1.0 24 10 6 6 5 3

ERLH FEIET — PR 5% ox
2008. 1. 15 th TRUSCO FSRATJMPWIRREH | 25> Lrxxmrasn v B44—-0000




